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llumin. P40, Y,, =720, ¥,=4.5 =) o 55
ame Range x| ¥ XY A Aoa boG A CanaMoz Ve Lo Lor L L
573 775 4572 20,04 ZEA 0595 037 600 4831311 ~0047 0.661 431 209 48025 161608 614 6
v 498 775 50.11 61.97 5.08 0.468 0.491576 4680.720 ~0.042 0294 19 455 455 87 3.44 829 837 B
498573 16.47 36.97 505 0.281 0631540 5400.271 -0.071 0,518 -411 245 47.9 149 2.05 67.2 67.9 6
c 380 573 22.76 30.8 4189 0.217 0.381493 6000283 ~0.547 0.482 ~43.1 -20.9 48.0 205 2.21 693 70.0 6
B 380 498 10.37 6.67 39.45 0.182 0121468 5760601 ~2.983 2649 -19 —455 455 267 038 315 3L8 2
M) 573498 53.01 3187 30.47 0.426 0.2565400540 1.234 ~0.644 0.601 411 ~24.5 47.9 320 177 632 638 6
W} 380 775 7267 720 46570379 0.376 72% 0717 033 001 00 00 00 0 40 879 888 84
N,'380 775454 45 291 0379 0376 4% 0717 -0336 001 00 00 00 180 025 252 255 15.
U 380 775 18.16 18.0 11.640.379 0376 18% 0717 -0.336 001 00 00 00 180 10 495 50.0 50
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